14 GA 125" X 125 X 1
PUNCHED ANGLE ATTACHED TO
ADJUSTABLE SLIDE ON TOP
FIXTURE W/C1> 5/16" X 3/4°
BOLT AND NUT

12 GA. GALV. COMMERCIAL TOP
ROLLER BRACKET ATTACHED
W/¢4> 1/4* x 3/4" HEX HEAD
SCREWS PER BRACKET

TYPI

ADJUSTABLE SLIDE BRACKET
ATTACHED W/(2) 5/16” X 3/4*
CARRIAGE BOLTS AND NUTS

)

CAL TOP FIXTURES

R f Y 2’ 10-BALL 95° STEM STEEL
X T URRICANE ROLLER W/ 7/16°
RETAINER FOR NON-THREADED 5.5 18 GA. R-TRUSS
F Q . SHAFTS ATTACHED
W/C@) 1/4° x 3/47
HEX HEAD SCREWS
T ] AT CENTER STILE
:’ 55 18GA. R-TRUSS ATTACHED
W/ (4 174 x 3/4
- T YEx Vieab SCREVS AT
EACH END STILE
~——1 —

N.T.S.

@

TYP

5.5 18 GA
R-TRUSS ATTACHED
W/<4) 1/4* x 3/4

14GA. CENTER HINGE
ATTACHED

W/<4) 1/4" x 3/4*

HEX HEAD SCREWS

W/¢(3) 1/4" x 3/4

14GA, #3 ROLLER CARRIER a
ATTACHED TO R-TRUSS
HEX HEAD SCREWS PER CARRIER

2’ 10-BALL STEEL
HURRICANE ROLLER

W/ 7/16° RETAINER FOR
NON-THREADED SHAFTS

ICAL CENTER HINGE

N.T.S.

@

=

32’ ‘MAX. \

[0

=0
Rl
=0

Rl

SECTION

HEIGHT
28" MIN 1
SECTION

o

o
| B
a1
Mo T

HEIGHT ¥
+

COMMERCIAL 1/2° SHOOT
BOLT LOCK ATTACHED TO
END STILE W/(4> 174" X 1*
HEX HEAD LAG SCREWS.

(4 PLACES)

©

TYPICAL END HINGE
N.T.S.

5.5" 18GA.
ATTACHED

HEX HEAD

W/(4) 174" X 3/4*
AT END STILE

TYPICAL TOP

R-TRUSS
TYPICAL BOTTOM

SECTION \

SCREWS

1

SECTION
12 GA. (MIN> GALV. COMMERCIAL
TOP ROLLER BRACKET ATTACHED
WITH (4) 1/4* x 3/4" HEX HEAD
24 GA. (022 MIN) UNIV. SCREWS PER BRACKET
HEX HEAD SCREWS AT
END STILE\ i.. PREPAINTED STEEL\ ADJUSTABLE SLIDE BRACKET IS
ASSEMBLED WITH (@ 5/16* x 3/4
»% 12 GA. END HINGE ATTACHED BOLT & NUT PER BRACKET
2077752, W/(@) 1/4" x 3/4"
. HEX HEAD SCREWS
- T
e =
i 14GA. ROLLER CARRIER
B — e ATTACHED TO END STILE TYPICAL : (® 55° 18 GA. R-TRUSS PER
= AR AR 4 INTERMEDIATE g SECTION EACH ATTACHED W/¢2)
[ PER CARRIER SECTION 1/4" X 3/4* HEX HEAD SCREWS
' AT EACH CENTER STILE AND (4>
=" AT EACH END STILE

)]

/

2

2’ 10-BALL STEEL 9.5 LONG STEM
HURRICANE ROLLER W/ RETAINER
USED FOR NON THREADED SHAFTS

COMMERCIAL SHOOT
BOLT LOCK ATTACHED
TO END STILE

W/(4) 174" X 1*

HEX HEAD LAG SCREWS

BOTTOM BRACKET

13 GA (MIN> ATTACHED
W/(3) 1/4* x 3/4"
HEX HEAD SCREWS

2’ 10-BALL STEEL

HURRICANE ROLLER

EMBOSSMENTS
NOT SHOWN
Y FOR CLARITY

W/9.5° STEM AND

1> 7/16” BOLT
RETAINER USED FOR
NON-THREADED SHAFTS

| =

SEE TABLE 2
FOR SHOOT BOLT
LOCATIDNS

2'-3

e of— A

2'-3*

2'-3"

/-3 /-3 /-3

18’

INSIDE ELEVATION
N.T.S.

1 N.T.S.

SEE NOTE 2 ON PAGE 2

wiOOD BLOCK BEHIND EACH OUTER END STILE (2> PER SECTION

3 374" MIN

_’] SIDEROOM [‘_

OPTIONAL STOP MOLDING
W/ FLEXIBLE SEAL:
(SUPPLIED BY INSTALLER>

12 GA JAMB BRACKET

ATTACHED TO JAMB

W/<1 5/16" X 1-5/8" LAG BOLT
AND ATTACHED TO TRACK

W/<1 174 X 5/8* SPICE BOLT

S 1/2°H X 18 GA,
(3" R-TRUSS)

L

1-172* X 2-5/8" X 31-1/2* (32’ SECTIONS)
1-1/72* X 2-5/8" X 27-1/2* (28" SECTIONS)

(7) 20 GA. CENTER STILES
ATTACHED WITH (2> CLINCHED JOINTS
AT THE TOP AND BOTTOM RAIL
AND ADHESIVE IEI INTERIOR FACE

G/,

2 X 6 SYP OR SPF

@ @ of

*e’

VA

/ #3 14GA. ROLLER CARRIER ATTACHED TO R-TRUSS

W/¢(3> 174" x 3/4" HEX HEAD SCREWS

TRACK MOUNTING DETAIL
N.T.S.

(NO. 2 OR BETTER)

20 GA. GALV. STEEL END
STILE ATTACHED WITH <11
LINCHED JOINTS TO DOORS
SKIN AND (2> AT THE TOP
AND BOTTOM RAIL

2" GALV. STEEL TRACK
TRACK THICKNESS .083"

BOTTOM BRACKET 13 GA.
(MIN.) THICK ATTACHED
W/(3> 174" X 3/4* HEX
HEAD SCREWS

SECTION A—A (SIDE VIEW)
N.T.S.

REV | DESCRIPTION OF REVISIONS DAE | BY
TYPICAL BOTTOM BRACKET@ MAX SIZE
18' x 8
DESIGN LOADS
+29.4 PSF
~33.3 PSF
L A R G E TEST LOADS
+44.1 PSF
~50.0 PSF / INE
MISSILE s on o
o r’d
| M ID /A\ C T LARGE MISSILE W '-{,{CENS?;?--\\\Q/ 4
CE MISSILE | W\ Rgerriniie RO
RESISTANCE W\ SLONA‘-F; ~
RESISTANCE
THE METHOD OF TESTING WAS IN SUBSTANTIAL ®
CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM 165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 WWW.AMARR.COM
E1886, E1996, F588 AND DASMA 108, 115. THE PRESSURES
SHOWN ON THE DRAWINGS WERE CALCULATED USING ASCE MODEL #5()() CLASSICA
7-98,/02,/05 WITH THE FOLLOWING PARAMETERS (5 FEET OF
DOOR WIDTH IN THE END ZONE, ROOF AT ANY SLOPE): 1000 & 2000
WIND SPEED (MPH) | 141 128 121 116 111 SZE| DRAWNBY  RIR| DATE 6/25/12 DRAWING NUMBER
EXPOSURE LEVEL B c C D D B [ ook oY A IRC-5318-140-76-]
MEAN ROOF HEIGHT | 30 15 25 15 25
ENGNEER: THOMAS L SHELMERDNE PE. LIC. No. 0048579 SHEET 1 OF 3

2



Tom
TX

Tom
TLS

Tom
Reviewed


SPECIFICATIONS AND NOTES

1

13 GA. FLAG

JAMB/ (3> 5/16 DIA, X 1-5/8°
TO TRACK W/(4> 1/4"-20 x 5/8*
TRACK SPLICE BOLTS AND NUTS

ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL

TRACK,FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.

THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD
TRANSFERRED FROM THE DOOR.

EACH VERTICAL JAMB RECEIVES MAXIMUM DESIGN LOADS OF: +264.6 LBS/FT
& -299.7 LBS/FT

DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED AND INSTALLED
WITH STANDARDS AS SET FORTH BY DASMA,

DOOR SECTIONS SHALL BE 24 GA. <.022> MIN. EXTERIOR SKIN ROLLED
FORMED, W/ BAKED ON POLYESTER FINISH

DOORS UP TO 80" HIGH CONSIST OF ¢(3> SECTIONS AS SHOWN. USE (2> 5.5*
R-TRUSSES PER SECTION

SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED BY A REGISTERED
PROFESSIONAL ENGINEER FOR WIND LOADS INDICATED ON THIS DRAWING IN
ADDITION TO OTHER LOADINGS.

BRACKET ATTACHED TO wOO
LAG BOLTS AND

(SPLICE)

INTERIOR OF GARAGE
MAX. WIDTH 180"

pEsiN Loaps[ | [ [T T]1]

+264.6 LBS/FT
-299.7 LBS/FT  SEE NOTE 2

SPLICE TRACKS AT THIS LOCATION

W/<¢4) 1/4"-20 TRACK SPLICE BOLTS
° & NUTS SECURE TO JAMB WITH (3>

I S/16 DIA. X 1-5/8 LAG BOLTS

WOOD JAMB ATTACHMENT TO STRUCTURE

2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE

5/16" X 3" LAG SCREWS STARTING 6" FROM ENDS THEN 18” O.C. (1 1/2" EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PSI CONCRETE

HILTI KWIK BOLT 3/8” X 4" STARTING 6” FROM ENDS THEN 24” O.C. (2 1/2” EMBEDMENT)
HILTI SLEEVE ANCHOR 3/8” X 2—3/4" STARTING 6" FROM ENDS THEN 16" 0.C. (1 1/4” EMBEDMENT)
ITW/RAMSET REDHEAD (TRU—BOLT) 3/8” X 4” STARTING 6” FROM ENDS THEN 24" O.C. (2 1/2” EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C—90 BLOCK
SIMPSON 1/4” X 3" TITEN SCREWS STARTING 6" FROM ENDS, USE PAIRS OF FASTENERS (3" APART)

AT 8” 0.C. (1 1/2” EMBEDMENT)

HILTI 1/4” X 2-3/4" KWIK—CON I+ SCREWS STARTING 6" FROM ENDS, USE PAIRS OF FASTENERS (3" APART)

AT 8” 0.C. (1 1/4” EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C—90 BLOCK (2000 PSI GROUT)

THROUGH

1> 5/16” DIA. x 1-5/8”

LAG BOLT ATTACHED TO JAMB
AT EA. JAMB BRACKET

12 GA. GALV. STEEL

JAMB BRACKETS

ATTACHED W/<1> 1/4"-20 x 5/8”
TRACK SPLICE BOLT & NUT

HILTI SLEEVE ANCHOR 3/8" X 2-3/4” STARTING 6” FROM ENDS THEN 18" 0.C. (1 1/4” EMBEDMENT)

(OR, USE FASTENERS FOR HOLLOW C—90 BLOCK)

*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.

*PREPARATION OF WOOD JAMBS BY OTHERS
\ \

\

SEE (TABLE 1> FOR
JAMB BRACKET SPACING

STANDARD TRACK CONFIGURATION FOR 7' AND 8’ TALL DOORS
N.T.S.
TABLE 1
Door TRACK ATTACHMENT (in) SPLICE
Height | A[B|C|D|E|F|G]|H S
70 (3.5(14]|27|38(47|56] 68 76
80 (3.5(14]|27|38(47|56]|68]| 79 88

TOP FIXTURE REINFORCEMENT
ILLUSTRATION

WOOD CONCRETE HOLLOW BLOCK GROUTED BLOCK
E STRUCTURE STRUCTURE STRUCTURE STRUCTURE
| | L |
=
&
2] i \ I \ » \
] o
|- |- | - |- |-
1 1 — —— <—»I
172”7 MIN 2-3/4" MIN 1-1/2* MIN 4
2X6 JAMB p—
TYP- 3’ MIN
REV | DESCRIPTION OF REVISIONS DATE BY
MAX SiZE vy
DESIGN LOADS e 1
TOP FIXTURE ADDER PIECE +29.4 PSF
-33.3 PSF
TEST LOADS
+44.1 PSF
-50.0 PSF

C
O t ‘/

ISOMETRIC VIEW

TOP VIEW _L

0 1 O
-~ '
END VIEW SIDE VIEW

LARGE MISSILE
IMPACT
RESISTANCE

7 THOMAS L. SHELMERDINE

T <: 858290%, 18/ 201)
( ’pO‘:"..{/CE Ns?,géf’//
t IO o\ -

WOSIONAL B2

AS KO g

W

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM

arr,

MODEL #500 CLASSICA

1000 & 2000
SZE| DRAWNBY  RR| DATE 6/25/12 DRAWING NUNBER
B[ cecken by DATE IRC-5318~140-26-

ENGINEER:  THOMAS L. SHELMERDINE P.E. LIC. No. 0048579

SHEET 2 OF 3



Tom
TX

Tom
TLS

Tom
Reviewed


za

DOOR HEIGHT

VERTICAL LIFT

AVAILABLE TRACK CONFIGURATIONS

HIGH LIFT

STANDARD LIFT

LOW HEADROOM

N.T.S.

TABLE 2

oo | SHOOTBOLT
| ATTACHMENT (in)
Height
9 Y Z
70 | 21 48
80 | 25 58

SHOOT BOLT ENGAGES TRACK AT 2
LOCATIONS PER SIDE,

BOLTS MUST BE ENGAGED DURING HIGH
WIND EVENTS,

* +

i

)

bofo

REV | DESCRIPTION OF REVISIONS DATE

BY

MAX SIZE
18’ x 8
DESIGN LOADS

+29.4 PSF
—-33.3 PSF

TEST LOADS
+44.1 PSF )
-50.0 PSF f

( <&
t {4, 0.
LARGE MISSILE ‘\o"‘ s--gﬁf‘f?.?-‘"c,\\\(i:
IMPACT \\\ SIONALEN 2=
RESISTANCE A

2

arr,

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM

MODEL #500 CLASSICA

1000 & 2000
SZE| DRAWNBY  RR| DATE 6/25/12 DRAWING NUNBER
B[ cecken by DATE IRC-5318~140-26-

ENGINEER:  THOMAS L. SHELMERDINE P.E. LIC. No. 0048579 SHEET 3 OF 3



Tom
TX

Tom
TLS

Tom
Reviewed


	IRC-5318-140-26-I Drawing 7-05 TX
	p2
	p3



